
Subject: Re: Neonatal Mortality in India NFHS-4
Posted by Sara Ali on Thu, 20 Jun 2019 07:46:10 GMT
View Forum Message <> Reply to Message

gen neonatal_death = (inrange(b6,100,130))
this command is not working for generation of new variable, what would be the reason.? the error
is  
"type mismatch"

Page 1 of 1 ---- Generated from The DHS Program User Forum

https://userforum.dhsprogram.com/index.php?t=usrinfo&id=7862
https://userforum.dhsprogram.com/index.php?t=rview&th=7080&goto=17829#msg_17829
https://userforum.dhsprogram.com/index.php?t=post&reply_to=17829
https://userforum.dhsprogram.com/index.php

